FHREUEH EORECEOBER(THSF4A1BIRE)

ITBURHSR =
=4 %%&EIJE%EH%E?%&%(;%HE?% ait AER B 1| £ oD B B
BELIG DB (N )] s N O] (9%)] B
1R E DBF = 48
2 JEME RUELRIE R O R OB ®E+ 8
FEL 2
1% 97|  20.2|&pEew 2
R N5 ;01 3
SRt 34
&t 97 =
”fv'fﬁg) B ‘ % 04 05| 427 'E:
2 CEBARIT R OFE R OB ®E+ 14 @
REE4E 2
R A Em 6
2%k 108| 22.5|maiEiEt 1
R N5 ;01 2
$ES 1
HERFEIEE 18
&t 108
1| EE DR *E 55 F
3k | 2 [EBF L R DR DB 69| 144fHEptE 14 69| 144| £
£t 69 &
1| RE DB e 64 IeA
4R | 2 | EE DTS 73|  15.2EmEEIS 9 73] 152| E
3 BB B 5 48 D BE R D B 7S 5t 73 &
1 REHEDORTS BRIk 50
2 |;ER5 B DB ER D BT BE 1
g 1
R 2 g
BRIk 1
5%k 79| 164 =R ) 79| 164 TE
XFRME 5 &
IEREL 2
EBEES 15
&t 79
1| REDEF 2F 30
2| REDOBHE fHEREL 1
3| EHDBTE BE 1
4 E RS RO R OB StEEE 1 "
wos—& 1 B
6%k 44 9.2 SHE 1 44 9.2 %
BE 2
ES 3
HEBESE 4
&t 44
EE=30): % BnE 8 N
AL EAD) 5% BE 1 H
"B [ omgons b P | I
5t 10
=11 480| 100.0




BEnBRaNR

g ERBEEBBRIRET D at B | D ER %
' B L DTS N )] ms WO O] (00 e
1| E OB J=F 9= 11
1% | 2[R E OREFE 11 100.0
3| — AR FREER B D BTS 5t 11
[BECRERVERELRELT SEHE %
TORBEDET 11| 100.0| B
BELHERVERENELT ZEEE %
28 |2)455 505 B 0 £75 o oo
3 EEGEERVERREVLELT HIERE
TO— AR EER B DB D X5 5t 0
&t 11| 100.0
EEBRHR
= ERBEEBBRIRET D at ZE B | D ER IS
' B L DTS N )] ms WO O] (00 e
11 |EBLBETIEMOLE 1| 100.0/E™ . } .
- - 1| 1000| E
yg |BLBEQNBRRI-ESERHLERE | | %
N FEEITOEEN DTS ' 5t 0
| &t 1] 100.0




